Year 3 Summer Term 1

®

Tick the present perfect sentence. &

The firefighters have gone to put out
the fire.

The firefighters went to put out the fire.

The firefighters are putting out the fire.

Clumsy Mr Whoops has lost all the
words from this word family. Can
you help him to find two of them?

act

C

Add the prefixes inter-, auto- or {

anti- to these root words:

active

social

Write these verbs in their past

tense form:

I bring

I buy

I deal

Write an exclamation sentence
about this picture.

Place the homophones ‘seen’ and .f
‘scene’ correctly in this sentence:

Have you the in the
movie where the dinosaur appears?
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Year 3 Group Term 1 Answers ®

Tick the present perfect sentence. Q Clumsy Mr Whoops has lost all the K Add the prefixes inter-, auto- or {

words from this word family. Can anti- to these root words:
The firefighters have gone to put out f f g

the fire. you help him to find two of them?

Accept any two active interactive
correctly spelt

The firefighters went to put out the fire.

words with the

social antisocial

act root ‘act’, e.g.
The firefighters are putting out the fire. active, activity,

react, reaction,

actor, actress.

Place the homophones ‘seen’ and .f
Write an exclamation sentence & ‘scene’ correctly in this sentence:
about this picture. Have you seen the scene in the movie
) where the dinosaur appears?
. _ _ b e.g. What a clever doggy detective PP
Write these verbs in their past you are!

tense form:

I bring I brought

I buy I bought

Ideal I dealt
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